$\operatorname{TWMS}$  J. App. and Eng. Math. V.11, N.1, 2021, pp. 228-236

## SOLUTION OF COMPLEX PARTIAL DERIVATIVE EQUATIONS WITH CONSTANT COEFFIENTS VIA ELZAKI TRANSFORM METHOD

#### M. DUZ, §

ABSTRACT. In this study, the Elzaki Transform method is applied for general nth order complex equations with constant coefficients.

Keywords: Elzaki transform, Complex equation.

AMS Subject Classification: 35N05,35N20.

#### 1. INTRODUCTION

In  $\mathbb{R}^2$ , general solutions of some equations, especially of elliptic types, cannot be found. A real partial differential equation system, of which number of independent variables is even, can be transformed to a complex partial differential equation system. Solving a complex equation can be easier with complex methods. For example,

$$u_{xx} + u_{yy} = 0$$

Laplace equation doesn't have general solution in  $\mathbb{R}^2$ , but it can be written as

$$u_{z\overline{z}} = 0$$

and the solution of this equation is

$$u = f(z) + g(\overline{z})$$

where f is analytic, g is anti analytic arbitrary function [1]. The most elementary works in the theory of complex differential equations are "Theory of Pseudo Analytic Functions" [3], and "Generalized Analytic Functions" by [4]. First order linear complex differential equations can be solved by using Elzaki transform, Fourier Transform and Laplace transform [1, 2, 5]. Higher order linear complex differential equations can be solved by approximate

Department of Mathematics, Faculty of Science, Karabuk University, Karabuk, Turkey. e-mail: mduz@karabuk.edu.tr; ORCID: https://orcid.org/0000-0003-2387-4045.

<sup>§</sup> Manuscript received: April 10, 2019; accepted: August 4, 2019.

TWMS Journal of Applied and Engineering Mathematics, Vol.11, No.1 © Işık University, Department of Mathematics, 2021; all rights reserved.

solution methods like Taylor and Chebyshev expansion method [6, 7]. In this study, to obtain a solution for equations in the form (1) is studied.

$$A_{n,0}\frac{\partial^{n}w}{\partial z^{n}} + A_{n-1,1}\frac{\partial^{n}w}{\partial z^{n-1}\partial \overline{z}} + \dots + A_{0,n}\frac{\partial^{n}w}{\partial \overline{z}^{n}} + A_{n-1,0}\frac{\partial^{n-1}w}{\partial z^{n-1}} + A_{n-2,1}\frac{\partial^{n-1}w}{\partial z^{n-2}\partial \overline{z}} + \dots + A_{0,n-1}\frac{\partial^{n-1}w}{\partial \overline{z}^{n-1}} (1) + \dots + A_{1,0}\frac{\partial w}{\partial z} + A_{0,1}\frac{\partial w}{\partial \overline{z}} + A_{0,0}w F(z,\overline{z})$$

where w is dependent variable,  $z, \overline{z}$  are independent variables and  $A_{i,j}$   $(1 \le i \le n, 1 \le j \le n)$  are real constants. Elzaki transform has been used for the solution of (1). This study presents generalization of [1, 2, 5]. This paper is organized as follows: In section 2, basic definitions and theorems are given. In section 3, formulization is obtained to solve the n th order complex differential equations with constant coefficients and some examples are given.

#### 2. Basic Definitions and Theorems

**Definition 2.1.** Let F(t) be a function for t > 0. Elzaki transform of F(t) is defined as follows:

$$E(F(t)) = v \int_{0}^{\infty} e^{-\frac{t}{v}} f(t) dt$$

**Theorem 2.1.** [8,9] Elzaki transforms of some functions are

$$\begin{array}{rccc} F(t) & E(F(t)) \\ 1 & v^2 \\ t^n & n! v^{n+2} \\ e^{at} & \frac{v^2}{1-av} \\ \cos at & \frac{v^2}{1+a^2v^2} \\ \sin at & \frac{av^3}{1+a^2v^2} \end{array}$$

=

**Theorem 2.2.** [10] Elzaki transforms of first order partial derivatives of f(x,t) are

$$i) E\left[\frac{\partial f}{\partial t}\right] = \frac{1}{v}T(x,s) - vf(x,0),$$
  
$$ii) E\left[\frac{\partial f}{\partial x}\right] = \frac{\partial T(x,v)}{\partial x},$$
(2)

where T(x, v) = E[f(x, t)].

**Lemma 2.1.** [11] Elzaki transforms of nth order partial derivatives of f(x,t) are

$$i)E\left[\frac{\partial^{n}f}{\partial t^{n}}\right] = \frac{1}{v^{n}}T(x,v) - \frac{1}{v^{n-2}}f(x,0) - \dots - \frac{\partial^{n-2}f}{\partial t^{n-2}}(x,0) - v\frac{\partial^{n-1}f}{\partial t^{n-1}}(x,0)$$
$$ii)E\left[\frac{\partial^{n}f}{\partial x^{n}}\right] = \frac{\partial^{n}T(x,v)}{\partial x^{n}}$$

**Theorem 2.3.** [11] Elzaki transforms of (n + m)th order partial derivatives of f(x, t) are

$$E\left[\frac{\partial^{n+m}f}{\partial x^n \partial t^m}\right] = \frac{\partial^n}{\partial x^n} \left(\frac{1}{v^m} T(x,v) - \frac{1}{v^{m-2}} f(x,0) - \dots - \frac{\partial^{m-2}f}{\partial t^{m-2}} (x,0) - v \frac{\partial^{m-1}f}{\partial t^{m-1}} (x,0)\right)$$
(3)

# 3. Solution of constant coeffients partial derivative equations from nth order

**Definition 3.1.** Derivative operators

$$\frac{\partial}{\partial z} = \frac{1}{2} \left( \frac{\partial}{\partial x} - i \frac{\partial}{\partial y} \right), \frac{\partial}{\partial \overline{z}} = \frac{1}{2} \left( \frac{\partial}{\partial x} + i \frac{\partial}{\partial y} \right)$$

are called complex derivative operators.

**Lemma 3.1.** Let n and r be positive integer numbers and  $n \ge r$ , then

$$\binom{n}{r} + \binom{n}{r-1} = \binom{n+1}{r}.$$

**Lemma 3.2.**  $\sum_{k=0}^{n} a_k \sum_{h=0}^{r} b_h = \sum_{k=0}^{n} \sum_{h=0}^{r} a_k b_h$ 

**Theorem 3.1.** Let w = w(z) be a complex valued function with complex variables. Then,

$$\frac{\partial^n w}{\partial z^n} = \frac{1}{2^n} \sum_{k=0}^n \left(-i\right)^k \binom{n}{k} \frac{\partial^n w}{\partial x^{n-k} \partial y^k}$$

*Proof.* Proof can be made by induction.

For n = 1, following equality can be written from the Definition 3.1

$$\frac{\partial w}{\partial z} = \frac{1}{2} \left( \frac{\partial w}{\partial x} - i \frac{\partial w}{\partial y} \right) = \frac{1}{2} \left[ (-i)^0 \begin{pmatrix} 1 \\ 0 \end{pmatrix} \frac{\partial w}{\partial x} + (-i) \begin{pmatrix} 1 \\ 1 \end{pmatrix} \frac{\partial w}{\partial y} \right] = \frac{1}{2} \sum_{k=0}^{1} (-i)^k \begin{pmatrix} 1 \\ k \end{pmatrix} \frac{\partial w}{\partial x^{1-k} \partial y^k}$$

As a result, it is true for n = 1.

Assume that it is true for n = r. Therefore, following equality can be written.

$$\frac{\partial^r w}{\partial z^r} = \frac{1}{2^r} \sum_{k=0}^r (-i)^k \binom{r}{k} \frac{\partial^r w}{\partial x^{r-k} \partial y^k}$$

Then, accuracy of equality must be seen for n = r + 1.

$$\begin{split} \frac{\partial^{r+1}w}{\partial z^{r+1}} &= \frac{\partial}{\partial z} \frac{\partial^r w}{\partial z^r} = \frac{\partial}{\partial z} \frac{1}{2^r} \sum_{k=0}^r (-i)^k \binom{r}{k} \frac{\partial^r w}{\partial x^{r-k} \partial y^k} \\ &= \frac{1}{2} \frac{\partial}{\partial x} \left( \frac{1}{2^r} \sum_{k=0}^r (-i)^k \binom{r}{k} \frac{\partial^r w}{\partial x^{r-k} \partial y^k} \right) - \frac{i}{2} \frac{\partial}{\partial y} \left( \frac{1}{2^r} \sum_{k=0}^r (-i)^k \binom{r}{k} \frac{\partial^r w}{\partial x^{r-k} \partial y^k} \right) \\ &= \frac{1}{2^{r+1}} \sum_{k=0}^r (-i)^k \binom{r}{k} \left( \frac{\partial^{r+1} w}{\partial x^{r+1-k} \partial y^k} - i \frac{\partial^{r+1} w}{\partial x^{r-k} \partial y^{k+1}} \right) \\ &= \frac{1}{2^{r+1}} \left[ \left( \frac{\partial^{r+1} w}{\partial x^{r+1}} - i \frac{\partial^{r+1} w}{\partial x^r \partial y} \right) - i \binom{r}{1} \left( \frac{\partial^{r+1} w}{\partial x^r \partial y} - i \frac{\partial^{r+1} w}{\partial x^{r-1} \partial y^2} \right) \right] \\ &+ \frac{1}{2^{r+1}} \left[ (-i)^2 \binom{r}{2} \left( \frac{\partial^{r+1} w}{\partial x^{r-1} \partial y^2} - i \frac{\partial^{r+1} w}{\partial x^{r-2} \partial y^3} \right) + \dots + (-i)^r \binom{r}{r} \left( \frac{\partial^{r+1} w}{\partial x \partial y^r} - i \frac{\partial^{r+1} w}{\partial y^{r+1}} \right) \right] \end{split}$$

230

If the above equality takes the common multiplier in parenthesis, then the following equality is obtained.

$$= \frac{1}{2^{r+1}} \left[ \frac{\partial^{r+1}w}{\partial x^{r+1}} - i \left( \frac{\partial^{r+1}w}{\partial x^r \partial y} + \binom{r}{1} \frac{\partial^{r+1}w}{\partial x^r \partial y} \right) \right] \\ + \frac{1}{2^{r+1}} \left[ (-i)^2 \left( \binom{r}{1} \frac{\partial^{r+1}w}{\partial x^{r-1} \partial y^2} + \binom{r}{2} \frac{\partial^{r+1}w}{\partial x^{r-1} \partial y^2} \right) \right] \\ + \dots \\ + \frac{1}{2^{r+1}} \left[ (-i)^r \left( \binom{r}{r-1} \frac{\partial^{r+1}w}{\partial x \partial y^r} + \binom{r}{r} \frac{\partial^{r+1}w}{\partial x \partial y^r} \right) + (-i)^{r+1} \frac{\partial^{r+1}w}{\partial y^{r+1}} \right]$$

From Lemma 3.1

$$= \frac{1}{2^{r+1}} \left[ \frac{\partial^{r+1}w}{\partial x^{r+1}} - i \binom{r+1}{1} \frac{\partial^{r+1}w}{\partial x^r \partial y} + (-i)^2 \binom{r+1}{2} \frac{\partial^{r+1}w}{\partial x^{r-1} \partial y^2} \right] \\ + \frac{1}{2^{r+1}} \left[ + \dots + (-i)^{r+1} \binom{r+1}{r+1} \frac{\partial^{r+1}w}{\partial y^{r+1}} \right] \\ = \frac{1}{2^{r+1}} \sum_{k=0}^{r+1} (-i)^k \binom{r+1}{k} \frac{\partial^{r+1}w}{\partial x^{r+1-k} \partial y^k}$$

As a result, proof is completed.

**Theorem 3.2.** Let  $w = w(z, \overline{z})$  be a complex valued function with complex variables. Then,

$$\frac{\partial^n w}{\partial \overline{z}^n} = \frac{1}{2^n} \sum_{k=0}^n i^k \binom{n}{k} \frac{\partial^n w}{\partial x^{n-k} \partial y^k}$$

*Proof.* Proof is similar to the proof of the previous theorem.

**Theorem 3.3.** Let  $w = w(z, \overline{z})$  be a complex valued function with complex variables. Then,

$$\frac{\partial^{n+r}w}{\partial z^n \partial \overline{z}^r} = \frac{1}{2^{n+r}} \sum_{h=0}^n \sum_{k=0}^r (-i)^h i^k \binom{n}{h} \binom{r}{k} \frac{\partial^{n+r}w}{\partial x^{n+r-(h+k)} \partial y^{h+k}}$$

Proof. From Theorem 3.1 and Theorem 3.2, following equality is obtained

$$\frac{\partial^{n+r}w}{\partial z^n \partial \overline{z}^r} = \frac{\partial}{\partial z^n} \frac{\partial^r w}{\partial \overline{z}^r} = \frac{\partial}{\partial z^n} \left( \frac{1}{2^r} \sum_{k=0}^r i^k \binom{r}{k} \frac{\partial^r w}{\partial x^{r-k} \partial y^k} \right)$$
$$= \frac{1}{2^{n+r}} \sum_{h=0}^n (-i)^h \binom{n}{h} \frac{\partial^n}{\partial x^{n-h} \partial y^h} \left( \sum_{k=0}^r i^k \binom{r}{k} \frac{\partial^r w}{\partial x^{r-k} \partial y^k} \right)$$

From Lemma 3.2

$$=\frac{1}{2^{n+r}}\sum_{h=0}^{n}\sum_{k=0}^{r}\left(-i\right)^{h}i^{k}\binom{n}{h}\binom{r}{k}\frac{\partial^{n+r}w}{\partial x^{n+r-(h+k)}\partial y^{h+k}}$$

Theorem 3.4. A special solution of the following complex equation

$$\begin{aligned} A_{n,o}\frac{\partial^{n}w}{\partial z^{n}} + A_{n-1,1}\frac{\partial^{n}w}{\partial z^{n-1}\partial \overline{z}} + \ldots + A_{0,n}\frac{\partial^{n}w}{\partial \overline{z}^{n}} \\ + A_{n-1,o}\frac{\partial^{n-1}w}{\partial z^{n-1}} + A_{n-2,1}\frac{\partial^{n-1}w}{\partial z^{n-2}\partial \overline{z}} + \ldots + A_{0,n-1}\frac{\partial^{n-1}w}{\partial \overline{z}^{n-1}} \\ + \ldots + A_{1,0}\frac{\partial w}{\partial z} + A_{0,1}\frac{\partial w}{\partial \overline{z}} + A_{0,0}w \\ = F(z,\overline{z}) \\ \frac{\partial^{k}w}{\partial y^{k}}(x,0) = f_{k}(x), 0 \le k \le n-1 \end{aligned}$$

is

$$w(z,\overline{z}) = E^{-1}[T(x,v)]$$

where is

$$= \frac{T(x,v)}{P(D)} = \frac{E\left[F_{1}\left(x,y\right) + iF_{2}\left(x,y\right)\right]}{P(D)} + \frac{\sum_{k=0}^{n}\sum_{l=0}^{n-k}A_{n-k-l}\frac{1}{2^{n-k}}\sum_{m=0}^{n-k-l}\sum_{h=0}^{l}\left(-i\right)^{m}.i^{h}\binom{n-l-k}{m}\binom{l}{h}\frac{\partial^{n-l-m-h}A(x,v)}{\partial x^{n-l-m-h}}}{P(D)}.$$

$$P(D) = \sum_{k=0}^{n}\sum_{l=0}^{n-k}A_{n-k-l}\frac{1}{2^{n-k}}\sum_{m=0}^{n-k-l}\sum_{h=0}^{l}\frac{(-i)^{m}.i^{h}}{v^{h+m}}\binom{n-l-k}{m}\binom{l}{h}D^{n-l-m-h},$$

$$A(x,v) = \left(\frac{w(x,0)}{v^{h+m-2}} + \frac{1}{v^{h+m-3}}\frac{\partial w}{\partial y}(x,0) + \dots + v\frac{\partial^{m+h-1}w}{\partial y^{m+h-1}}(x,0)\right)$$

Proof. Using Theorem 3.3, the complex equation, which is stated in the theorem, can be written as follows

$$\begin{aligned} A_{n,o} \frac{1}{2^{n}} \sum_{k=0}^{n} (-i)^{k} \binom{n}{k} \frac{\partial^{n} w}{\partial x^{n-k} \partial y^{k}} + A_{n-1,1} \frac{1}{2^{n}} \sum_{h=0k=0}^{n-1} \sum_{k=0}^{1} (-i)^{h} i^{k} \binom{n-1}{h} \binom{1}{k} \frac{\partial^{n} w}{\partial x^{n-h-k} \partial y^{h+k}} \\ + \dots & + A_{o,n} \frac{1}{2^{n}} \sum_{k=0}^{n} i^{k} \binom{n}{k} \frac{\partial^{n} w}{\partial x^{n-k} \partial y^{k}} + A_{n-1,o} \frac{1}{2^{n-1}} \sum_{k=0}^{n-1} (-i)^{k} \binom{n-1}{k} \frac{\partial^{n-1} w}{\partial x^{n-1-k} \partial y^{k}} \\ & + A_{n-2,1} \frac{1}{2^{n-1}} \sum_{h=0k=0}^{n-2} (-i)^{h} i^{k} \binom{n-1}{h} \binom{1}{k} \frac{\partial^{n-1} w}{\partial x^{n-1-h-k} \partial y^{h+k}} \\ & + \dots + A_{o,n-1} \frac{1}{2^{n-1}} \sum_{k=0}^{n-1} i^{k} \binom{n-1}{k} \frac{\partial^{n-1} w}{\partial x^{n-1-k} \partial y^{k}} \\ & + \dots + A_{1,0} \frac{1}{2} \sum_{k=0}^{1} (-i)^{k} \frac{\partial^{n} w}{\partial x^{n-k} \partial y^{k}} + A_{0,1} \frac{1}{2} \sum_{k=0}^{1} i^{k} \binom{1}{k} \frac{\partial^{n} w}{\partial x^{n-k} \partial y^{k}} + A_{0,0} w \\ & = F_{1}(x, y) + iF_{2}(x, y) \end{aligned}$$

If elzaki transform is used for the equation above, the following equality is obtained by using Theorem 2.4.

232

$$\begin{split} &A_{n,o}\frac{1}{2^{n}}\sum_{k=0}^{n}\left(-i\right)^{k}\binom{n}{k}\frac{\partial^{n-k}}{\partial x^{n-k}}\left(\frac{1}{v^{k}}T\left(x,v\right)-\ldots-\frac{\partial^{k-2}w}{\partial y^{k-2}}\left(x,0\right)-v\frac{\partial^{k-1}w}{\partial y^{k-1}}\left(x,0\right)\right) \\ &+A_{n-1,1}\frac{1}{2^{n}}\sum_{h=0k=0}^{n-1}\left(-i\right)^{h}i^{k}\binom{n-1}{h}\frac{\partial^{n-h-k}}{\partial x^{n-h-k}}\left(\frac{1}{v^{h+k}}T\left(x,v\right)-\ldots-v\frac{\partial^{k+1}w}{\partial y^{k+1}}\left(x,0\right)\right) \\ &+\ldots+A_{0,n}\frac{1}{2^{n}}\sum_{k=0}^{n}i^{k}\binom{n}{k}\frac{\partial}{\partial x^{n-k}}\left(\frac{1}{v^{k}}T\left(x,v\right)-\ldots-\frac{\partial^{k-2}w}{\partial y^{k-2}}\left(x,0\right)-v\frac{\partial^{k-1}w}{\partial y^{k-1}}\left(x,0\right)\right) \\ &+A_{n-1,o}\frac{1}{2^{n-1}}\sum_{k=0}^{n-1}\left(-i\right)^{k}\binom{n-1}{k}\frac{\partial^{n-1-k}}{\partial x^{n-1-k}}\left(\frac{1}{v^{k}}T\left(x,v\right)-\ldots-v\frac{\partial^{k-1}w}{\partial y^{k-1}}\left(x,0\right)\right) \\ &+A_{n-2,1}\frac{1}{2^{n-1}}\sum_{h=0k=0}^{n-2}\left(-i\right)^{h}i^{k}\binom{n-2}{h}\frac{\partial^{n-1-k}}{\partial x^{n-1-k}}\left(\frac{1}{v^{k}}T\left(x,v\right)-\ldots-v\frac{\partial^{k-2}w}{\partial y^{k-1}}\left(x,0\right)\right) \\ &+\ldots+A_{0,n-1}\frac{1}{2^{n-1}}\sum_{k=0}^{n-1}i^{k}\binom{n-1}{k}\frac{\partial^{n-1-k}}{\partial x^{n-1-k}}\left(\frac{1}{v^{k}}T\left(x,v\right)-\ldots-\frac{\partial^{k-2}w}{\partial y^{k-2}}\left(x,0\right)-v\frac{\partial^{k-1}w}{\partial y^{k-1}}\left(x,0\right)\right) \\ &+\ldots+A_{1,0}\frac{1}{2}\sum_{k=0}^{1}\left(-i\right)^{k}\frac{\partial^{1-k}}{\partial x^{1-k}}\left(\frac{1}{v^{k}}T\left(x,v\right)-\ldots-\frac{\partial^{k-2}w}{\partial y^{k-2}}\left(x,0\right)-v\frac{\partial^{k-1}w}{\partial y^{k-1}}\left(x,0\right)\right) \\ &+A_{0,1}\frac{1}{2}\sum_{k=0}^{1}i^{k}\frac{\partial^{1-k}}{\partial x^{1-k}}\left(\frac{1}{v^{k}}T\left(x,v\right)-\ldots-\frac{\partial^{k-2}w}{\partial y^{k-2}}\left(x,0\right)-v\frac{\partial^{k-1}w}{\partial y^{k-1}}\left(x,0\right)\right) \\ &+A_{0,1}\frac{1}{2}\sum_{k=0}^{1}i^{k}\frac{\partial^{1-k}}{\partial x^{1-k}}\left(\frac{1}{v^{k}}T\left(x,v\right)-\ldots-\frac{\partial^{k-2}w}{\partial y^{k-2}}\left(x,0\right)-v\frac{\partial^{k-1}w}{\partial y^{k-1}}\left(x,0\right)\right) \\ &+E\left[F\right] \end{split}$$

In the equation above, the terms which are equal to sum of the indices can be written under a single total symbol. If T(x, v) and its derivatives are added to the left side of the equation and by using definition of A(x, v), the following equality is obtained.

=

$$\begin{split} \sum_{k=0}^{n} \left[ A_{n-k,k} \frac{1}{2^{n}} \sum_{m=0}^{n-k} \sum_{h=0}^{k} \frac{(-i)^{m} \cdot i^{h}}{v^{h+m}} \binom{n-k}{m} \binom{k}{h} \frac{\partial^{n-m-h}T\left(x,v\right)}{\partial x^{n-m-h}} \right] \\ + \sum_{k=0}^{n-1} \left[ A_{n-1-k,k} \frac{1}{2^{n-1}} \sum_{m=0}^{n-1-k} \sum_{h=0}^{k} \frac{(-i)^{m} \cdot i^{h}}{v^{h+m}} \binom{n-1-k}{m} \binom{k}{h} \frac{\partial^{n-1-m-h}T\left(x,v\right)}{\partial x^{n-1-m-h}} \right] \\ + \dots + \sum_{k=0}^{1} \left[ A_{1-k,k} \frac{1}{2} \sum_{m=0}^{1-k} \sum_{h=0}^{k} \frac{(-i)^{m} \cdot i^{h}}{v^{h+m}} \binom{1-k}{m} \binom{k}{h} \frac{\partial^{1-m-h}T\left(x,v\right)}{\partial x^{1-m-h}} \right] \\ + A_{0,0}T\left(x,v\right) \\ = E\left[F_{1}\left(x,y\right) + iF_{2}\left(x,y\right)\right] \\ + \sum_{k=0}^{n} \left[ A_{n-k,k} \frac{1}{2^{n}} \sum_{m=0}^{n-k} \sum_{h=0}^{k} \left(-i\right)^{m} \cdot i^{h} \binom{n-k}{m} \binom{k}{h} \frac{\partial^{n-m-h}A\left(x,v\right)}{\partial x^{n-m-h}} \right] \\ + \sum_{k=0}^{n-1} \left[ A_{n-1-k,k} \frac{1}{2^{n-1}} \sum_{m=0}^{n-k} \sum_{h=0}^{k} \left(-i\right)^{m} \cdot i^{h} \binom{n-1-k}{m} \binom{k}{h} \frac{\partial^{n-1-m-h}A\left(x,v\right)}{\partial x^{n-m-h}} \right] \\ + \dots + \sum_{k=0}^{1} \left[ A_{1-k,k} \frac{1}{2} \sum_{m=0}^{1-k} \sum_{h=0}^{k} \left(-i\right)^{m} \cdot i^{h} \binom{1-k}{m} \binom{k}{h} \frac{\partial^{1-k-m-h}A\left(x,v\right)}{\partial x^{1-k-m-h}} \right] \end{split}$$

All terms can be written on the right and left side of the equation inside a single parenthesis and the following equation is obtained.

$$\left[ \sum_{k=0}^{n} \sum_{l=0}^{n-k} A_{n-k-l} \frac{1}{2^{n-k}} \sum_{m=0}^{n-k-l} \sum_{h=0}^{l} \frac{(-i)^m \cdot i^h}{v^{h+m}} \binom{n-l-k}{m} \binom{l}{h} D^{n-l-m-h} \right] T(x,v) = E\left[F_1(x,y) + iF_2(x,y)\right] \\ + \sum_{k=0}^{n} \sum_{l=0}^{n-k} A_{n-k-l} \frac{1}{2^{n-k}} \sum_{m=0}^{n-k-l} \sum_{h=0}^{l} (-i)^m \cdot i^h \binom{n-l-k}{m} \binom{l}{h} \frac{\partial^{n-l-m-h}A(x,v)}{\partial x^{n-l-m-h}}$$

As a result, using the inverse operator method, by the definition of P(D) in theorem, T(x, v) is obtained as follows

$$T(x,v) = \frac{E[F_{1}(x,y) + iF_{2}(x,y)]}{P(D)} + \frac{\sum_{k=0}^{n} \sum_{l=0}^{n-k} A_{n-k-l} \sum_{m=0}^{n-k-l} \sum_{h=0}^{l} (-i)^{m} \cdot i^{h} {\binom{n-l-k}{m}} {\binom{l}{h}} \frac{\partial^{n-l-m-h} A(x,v)}{\partial x^{n-l-m-h}}}{P(D)}$$

Thus, solution of the equation is found from inverse elzaki transform as  $w(x, y) = E^{-1}(T(x, v))$ .

Example 3.1. Find the solution for the following differential equation

$$\frac{\partial^2 w}{\partial z \partial \overline{z}} = 4$$

with the conditions

$$w(x,0) = 5x^2 + 3x + 2$$
  
$$\frac{\partial w}{\partial y}(x,0) = i(2x-1)$$

**Solution 3.1.** Coefficients of the equation are  $A_{1,1} = 1, A_{2,0} = A_{0,2} = A_{1,0} = A_{0,1} = A_{0,0} = 0$  and n = 2. Using theorem 3.4

$$T(x,v) = \frac{16v^2 + 5x^2 + 3x + 2 + iv(2x - 1)}{D^2 + \frac{1}{v^2}}$$

$$w(x,y) = E^{-1} \left(T(x,v)\right)$$

$$w(z,\overline{z}) = E^{-1} \left[\frac{16v^2 + 5x^2 + 3x + 2 + iv(2x - 1)}{D^2 + \frac{1}{v^2}}\right]$$

$$= E^{-1} \left[v^2 \left(1 - v^2 D^2 + v^4 D^4 - \dots\right) \left(16v^2 + 5x^2 + 3x + 2 + iv(2x - 1)\right)\right]$$

$$= E^{-1} \left[v^2 \left(16v^2 + 5x^2 + 3x + 2 + iv(2x - 1) - 10v^2\right)\right]$$

$$= 3y^2 + 5x^2 + 3x + 2 + i(2x - 1)y$$

$$= z^2 + 4z\overline{z} + 2z + \overline{z} + 2$$

Example 3.2. Find the solution for the following differential equation

$$\frac{\partial^2 w}{\partial z^2} + 2\frac{\partial w}{\partial \overline{z}} = 12z + 18\overline{z} + 9$$

with the conditions

$$w(x,0) = 2x^3 + 3x^2 + 8x$$
  
$$\frac{\partial w}{\partial y}(x,0) = i(6x^2 - 6x + 2)$$

**Solution 3.2.** Coefficients of the equation are  $A_{2,0} = 1$ ,  $A_{0,1} = 2$ ,  $A_{0,2} = A_{1,1} = A_{1,0} = A_{0,1} = A_{0,0} = 0$  and n = 2. Using theorem 3.4

$$T(x,v) = \frac{v^2(120x+36) - 24iv^3 + iv(12x^3 + 42x - 18) - (2x^3 + 3x^2 + 8x)}{D^2 + (6 - \frac{2i}{v})D + \frac{6iv - 1}{v^2}}$$
$$w(x,y) = E^{-1}(T(x,v))$$

Let us assume that,

$$A(x,v) = -24iv^{3} + 120v^{2}x + 36v^{2} + 12ivx^{3} + 42ivx - 18iv - 2x^{3} - 3x^{2} - 8x$$

Then, it can be written as,

$$\begin{split} w\left(z,\overline{z}\right) &= E^{-1} \left[ \frac{A\left(x,v\right)}{D^2 + (6 - \frac{2i}{v})D + \frac{6iv-1}{v^2}} \right] \\ &= E^{-1} \left[ \frac{v^2}{6iv-1} A\left(x,v\right) \\ &\quad \left( 1 - \frac{v^2}{6iv-1} \left( D^2 + (6 - \frac{2i}{v})D \right) + \frac{v^4}{(6iv-1)^2} \left( D^2 + (6 - \frac{2i}{v})D \right)^2 + \ldots \right) \right] \\ &= E^{-1} \left[ 2x^3v^2 - \frac{3x^2v^2}{6iv-1} - \frac{6v^3x^2(6v-2i)}{6iv-1} + \frac{v^2x}{6iv-1} \left( 108v^2 + 42iv - 8 \right) \right. \\ &\quad \left. + \frac{v^2x \left( 36v^2 - 12iv \right)}{(6iv-1)^2} \right] + E^{-1} \left[ \frac{12v^4}{6iv-1} \left( 36v^2 - 24iv - 4 \right) \right. \\ &\quad \left. + \frac{v^2}{6iv-1} \left( 36v^2 - 24iv^3 - 18iv \right) + \frac{6v^4}{(6iv-1)^2} + \frac{8v^3(6v-2i)}{(6iv-1)^2} \right] \\ &\quad \left. + E^{-1} \left[ -\frac{v^3(6v-2i)}{(6iv-1)^2} \left( 120v^2 + 42iv \right) - \frac{6v^4}{(6iv-1)^3} \left( 36v^2 - 24iv - 4 \right) \right] \\ &\quad w\left(z,\overline{z}\right) &= E^{-1} \left[ \left( 2x^3v^2 - 12xv^4 43v^2 \right) x^2 - 6v^4 + 8xv^2 + i \left( 6x^2v^3 - 12v^5 - 6xv^3 + 2v^3 \right) \right] \end{split}$$

$$w(z,\overline{z}) = E^{-1} \left[ \left( 2x^{3}v^{2} - 12xv^{4}43v^{2} \right) x^{2} - 6v^{4} + 8xv^{2} + i \left( 6x^{2}v^{3} - 12v^{3} - 6xv^{3} + 2v^{3} \right) \right] \\ = 2x^{3} - 6xy^{2} + 3x^{2} - 3y^{2} + 8x + i \left( 6x^{2}y - 2y^{3} - 6xy + 2y \right) \\ = z^{3} + 3\overline{z}^{2} + 5z + 3\overline{z}$$

### 4. Conclusion

In this article, it can be seen that the most general linear constant coefficient complex differential equations can be solved by Elzaki transformation. A formula for a specific solution of such equations has been obtained. It can be seen that the results are consistent with the literature.

#### References

- Düz, M., (2017). Application of Elzaki Transform to First Order Constant Coefficients Complex Equations, Bulletin of The International Mathematical Virtual Institute, 7, pp. 387-393
- Düz, M., (2018). Solution of Complex Differential Equations by using Fourier Transform, International Journal of Applied Mathematics, 31, pp. 23-32
- [3] Bers, L.,(1953). Theory of pseudo-analytic functions. New York University Institute for Mathematics and Mechanics, .
- [4] Vekua, I. N., (1959). Verallgemeinerte analytische Funktionen. Berlin: Akademie Verlag.
- [5] Düz, M., (2017). On an application of Laplace transforms, NTMSCI 5, pp. 193-198
- [6] Gülsu, M., Sezer, M., (2007). Approximate solution to linear complex differential equation by a new approximate approach, Applied Mathematics and Computation, 185, pp.636-645
- [7] Sezer, M., Tanay, B., Gülsu, M., Mustafa GÜLSU,(2009). A Polynomial Approach For Solving High-Order Linear Complex Differential Equations With Variable Coefficients in Disc, Erciyes Üniversitesi Fen Bilimleri Enstitüsü Dergisi 25 pp.374 - 389
- [8] Elzaki, T. M., Elzaki, S., M., Hilal, E.M., (2012). Elzaki and Sumudu Transforms for Solving Some Differential Equations, Global Journal of Pure and Applied Mathematics. 8, pp. 167-173
- [9] Elzaki, T. M., (2012). Solution of Nonlinear Differential Equations Using Mixture of Elzaki Transform and Differential Transform Method, International Mathematical Forum, 7, pp. 631-638
- [10] Elzaki, T. M., Elzaki, S., M., (2011). Application of New Transform Elzaki Transform to Partial Differential Equations, Global Journal of Pure and Applied Mathematics. 7, pp. 65-70
- [11] Düz, M., Elzaki, T. M., Solution of constant coefficients partial derivative equations with elzaki transform method, Turkic World Mathematics Society, J. App. Eng. Math., Accepted.

Murat DUZ for the photography and short autobiography, see TWMS J. App. Eng. Math., V.7, N.1.